CBSE Important Questions for Class 10 Hindi

RTH-A&HUT-TIRIRTH JdTG (JeriIGIe) Chapter 2

Answers at the Bottom

1. FafafEa i & wryde yge snutia Ul & IR ifvme-
fagRr TR Sidl g T | 9@ g HeTHE TR 1
gi-gf Mg S¥1a $o | 98d SS1a- hdh Ugle |l
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i, ‘PIESANIAT P IaTeR0l o} feaT T g ?
ii. AEHUT & GO DT T HRUT g2
iii. TARY P § ? AU 394 989 ] HR 3@ 67

2. IY-TEHUI-IRYRTA HdTg H TEH0T = dR Al b o1-37 fAA9dTE Saqars § 2
3. Y8 I IS aTel Dig MTUDT & Y BIT-d YR TR YA & WHG R fewoft sifo|
4, TRYRT S A S0 TRY Y 37 AR 9ars & 2

5. AEAUT - TRYRT ¥ ford YR &H1-A1aT B 3R a1i?

6. 381 PrESTIT HI3 ATR! — I8 Ufdd e SR frg dey A gt g 2



Answer

1. i ' PRESEAT (BIgT BT ST I I HI Bl U ) IIaH [G@H I TS AT § | T8
IRIRTH TEU P JFS THY B IR-TR IS (6T g A ST TgT SIS el Bl
ITERYT feaT T ® |

ii. TEHUT & §I- T HRUT IRIRTH &1 T4 H S1d T Ge B IRYRTH GRT gd | a1 8
|

ii. TR T € | 3614 RI9-498 & ge M WR IH P RI-Hl H8T 3R TR-3R
Y fGETR 8 G B! 91 Do, HeRdw A&qUl 3O G&f J6d g 34 989 PR 5
gl

2. IH-TEHUT-TRIRTH HaTg H MRATH Jeriiery gRT fId Uet & [1ead ¥ ded0 3 3R aign
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3. Y TEH0 IRERT TG H T8 HIs SATIH] &1 G 81T 16 & SHTYR TR T SR M
UG & 811 BT Udl IadT ¢ | TRYRTH & HIe B id B BT YIT Hd gU IH A g1 &l
faTe, et TgHTa | $1 & Rra 4w B dig arer DT B < BI-U8T 8 & I8
UdT Iadt § o I 2ia, fa99 THd & § 1 3! arlt & weRar &1 0 fagee g1 3 S
3 5 YT ORI & fa-5a1 ¥ g1 SHeim off 9l g |

4. ITH-AEHT RYRTH FaTe H MR e & SR HITar 41 TRYRTH Sif DI {0t
I T oR Sifa fasymy o1 | o SaT g TRd T | Fords TR IR 36 714 T, af gdl
& o ST T ST YA ¢ fob S9! Y o1 9§ %l & T4 # Ryd a1ae o g
DI UT BT O § 3R 39 By § A7 goIRI BRI &1 4 3@ o faan g

5. ITH A& IRYRT HaTG H TEH0T = gl b <ad, ST, W & Had 3R M-8 IR
SAR $d H IRaT g fGars STt 81 38 AR UR UTY ST § 3R 379 8RA TR 3Ug
ST 81 31d: 3y g8 T off Ot g 3 TR € v =nfed | § wem H7 3w egfua
HE1 1 dl & YR dXb T & HRAT| §H T [l YR H1 I AT ST T8l
BT AR § | SHTIHT 3R B R HRAT o1 gHRT 4H 7|

6. STYad Ufdd @& STt A URIRM off ¥ 39 7T Hal oid d 38 aIR-9R U 18, IRIHH
3R UfasT & fawg & gard g2 3= 3107 WY & <fteurar ¥ +ff S/ w1 3R 3 SR @
AT St T TR Fa07 8T TG b 3R YGR | Al o TR-IR I Fegrsl fadm HR 3
A b I UgTS IS 918d 81 <l T8l Bl HHes diadr Ufd HHSR a1 § off b
ol & R TR OMY | 3 ADIad P GRT d IRIRM St Bl Jad HRAT A8 © b D!
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Y DI 89 g & oY FTR &1 gH df 3MUH! Th BN, HeTeHT THF PR SIS W &1 W
T ST 3R BN, HeTemsii & WY gg 78] Hd o





